
N = 1225
1225 circles in a circle

radius =   0.026694929494
ratio  =  37.460297478640

density  = 0.872958594316
contacts = 2401

 E.SPECHT
10-JUN-2014

N = 1226
1226 circles in a circle

radius =   0.026648627956
ratio  =  37.525384107472

density  = 0.870643130019
contacts = 2360

 E.SPECHT
05-MAY-2014

N = 1227
1227 circles in a circle

radius =   0.026629710544
ratio  =  37.552041670071

density  = 0.870116600430
contacts = 2481

 E.SPECHT
05-MAY-2014

N = 1228
1228 circles in a circle

radius =   0.026626342069
ratio  =  37.556792344614

density  = 0.870605448977
contacts = 2455

 E.SPECHT
06-MAY-2014

N = 1229
1229 circles in a circle

radius =   0.026614439488
ratio  =  37.573588594105

density  = 0.870535590427
contacts = 3025

 E.SPECHT
06-MAY-2014

N = 1230
1230 circles in a circle

radius =   0.026603480257
ratio  =  37.589066932144

density  = 0.870526548981
contacts = 3081

 E.SPECHT
06-MAY-2014

N = 1231
1231 circles in a circle

radius =   0.026598344228
ratio  =  37.596325223912

density  = 0.870897928168
contacts = 3016

 E.SPECHT
07-MAY-2014

N = 1232
1232 circles in a circle

radius =   0.026589246742
ratio  =  37.609188770619

density  = 0.871009268142
contacts = 2806

 E.SPECHT
07-MAY-2014

N = 1233
1233 circles in a circle

radius =   0.026581194397
ratio  =  37.620581870136

density  = 0.871188351207
contacts = 3016

 E.SPECHT
07-MAY-2014

N = 1234
1234 circles in a circle

radius =   0.026571043861
ratio  =  37.634953494305

density  = 0.871229138872
contacts = 2350

 E.SPECHT
08-MAY-2014

N = 1235
1235 circles in a circle

radius =   0.026557916755
ratio  =  37.653555783021

density  = 0.871073833795
contacts = 2952

 E.SPECHT
08-MAY-2014

N = 1236
1236 circles in a circle

radius =   0.026549483323
ratio  =  37.665516418217

density  = 0.871225579996
contacts = 2935

 E.SPECHT
08-MAY-2014


